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SEIAMY MY, ME0 LM

<M. ME cho| - ®el)
Mo« M =
o g - 2020 2020 SU(B-A) " o o 2020 2020 SH(EB-A
K Y0 LhA) HZ0Lh(B) o HIZ (%) - K Y0 LhA) HF0 L) e HIE(%)
A 3,890,588 4,031,534 140,946 3% A 3,890,588 4,031,534 140,946 3%
AFELH| 2,913,455 2,934,929 21,474 1%
A 3,073,858 3,214,754 140,896 4%
Q1 s 2,887,949 2,914,905 26,956 1%
29 1,926,832 1,975,917 49,085 2%)
LRS! 2,893,138 3,033,335 140,197 5%
Mg 529,089 528,870 -219 0%
HEus+=Y 720 350 370 -106%, INEEIER == 238,852 208,789 -30,063 90%
TPl pe=t EFNEZ 192,312 200,380 8,068 4%
X ol 0l 180,000 181,069 1,069 1%
[l 7| EFS A ZH| 864 949 85 9%
Juless 3,280 2,836 -444 -16%
g e 1,600 1,650 50 3%
2|2y 3,280 2,836 -444 -16%
2% 22,226 17,188 -5,038 -29%
Ol 30| Xt=2 600 650 50 8%
28H| U 48 13,260 8,007 -5,253 -66%
3383 4,976 4,678 -298 0
7B 1,000 1,000 0 0%
SR ESnie=y 3,990 4,503 513 1%
. L] 5,000 5,000 0 0%
Mdzolgg|ddzolgd 815,130 815,130 - 0%
INESE 5,000 5,000 0 0%
Rk SH| 5,000 5,000 0 0%
Hdzolgd 815,130 815,130 - 0%
Abeit] 917,133 29,267 -887,866 -3034%
Ab | 917,133 29,267 -887,866 -3034%
S X| A H| 917,133 29,267 -887,866 -3034%
oj|H] b 5,000 997,443 992,443 99%|
of| 5| H] 5,000 997,443 992,443 99%
RlRcie=s 5,000 5,000 0 0%)
Xt7| ol ga - 992,443 992,443 100%
HEz 50,000 64,895 14,895 23%
HEF 50,000 64,895 14,895 23%
HES 50,000 64,895 14,895 23%




2020 TOHARSKIHAIY o MHH LY AN

<M &> (2h9l @ 8) (2hol : 2l)
=
2 & = LS 20 T2 ol AHA) MEUY 20 W2 clAHB) MEUY s
=N (B-A)
A 3,890,588 3,890,588, 154 4,031,534 4,031,533,540 140,945
Abd %l 3,073,858 3,073,857,750 3,214,753 3,214,753, 314 140,896
Al | AR At el 2,893,138 | 0 Ald=¢l 2,893,137,750 3,033,335 | 0 At ==¢d 3,033,334,644 140,197
PSP | PUPS EPe 720 | 0 ugm4He 720,000 350 | 0 AzmE 4 350,000 370
EIpSEY .
LR R 180,000 | 0 Yxt2lobExIE x4l 180,000,000 181,069 | 0 YxtzlorE Rtz x@4el 181,068,670 1,069
ol —_o [=}
mae | mee 1.600 1,600,000 1.650 1,649,822 50
of Zolxt2l| o 2ol RH4 2 600 | 0 ol Zolxt4el 600,000 650 | 0 ol Zolxi4el 649,822 50
JletEae | JleETy 1,000 | 0 7IEFR4el 1,000,000 1,000 | 0 7lEtR4el 1,000,000 00
dde | ddE ) ddE b= 815,130 | 0 Mdzolg3 815,130,404 815,130 | 0 MU zolaZ 815,130,404 00
olgs olgz oldz olgz g B ,130, , MATO|EF ,130,




<M &> (Etel - 2) (etel - 2)

=7}
= S = = 20 SHE of AH(A) MEUY 20 A of AK(B) MEUA = SH
=% (B-A)
Al 3,890,588 3,890,588, 154 4,031,534 4,031,533,540 140,945
AbSH| 2,913,455 2,913,455,445 2,934,928 2,934,928, 467 21,473
olzdH| 2,887,949 2,887,949,045 2,914,905 2,914,905,302 26,956
0 Mghels Zof 85,939,000 0 MEtelzd Zof 84,764,000
SEX| AL 2O S X| AL 2O
04 04 1,926,832 0 EZX|AA Z0 1,840,892,835 1,975,917 0 XA Fo 1,891,152,725 49,085
1,926,831,835 1,975,916,725
0 MEtely JtE54g 1,440,000 0 Mgheld 7i5g 1,160,000
0 Metelsd WHEFIHH| 8,558,400 0 Meteldd W™ EIH| 7,301,400
0 Mehelsd Moz Ald| 3,600,000 0 Metelsd Moz Ald| 3,500,000
0 Metolad =Xt 3,583,750 0 Metolyd =34t 3,616,500
0 MEteld o5& 7| 900,000 0 Meteld ol EF 7| 900,000
0 Merolad x|adchady| 900,000 0 Metelad =ty 900,000
0 MEtelad AlzZte|gt 9,639,366 0 MEtelad A|Zkeg 4,340,758
M| =gt = 529,089 | 0 MEtolad E4QiR 4t 0 528,870 | 0 MEold ExRsY 330,000]- 219
0 XA HHYFII$E 14,192,685 0 SSX|AAL HY FohEf 14,618,600
0 SSX|HAL AxpE 113,871,758 0 S=X| AL HARpZEH 108,563,271
0 EEX|YA BEEnSS5E 9,260,020 0 EEX|YA BEEnsS5E 8,405,315
0 2SX|HA FHTE 347,742,720 0 SSX|YA FHFE 360,634,120
0 EEX|YA HESE 15,400,000 0 SSX| YA YR 14,600,000
529,088,699 528,869,964
0 MEeld AlEEYREF 10,859,339 0 MEtol Als|EEYREF 10,375,513
1) AZEgREF 1) AZESHREZ
2) ZUAZREZ 2) RUAZHREZ
3) NEEYHREF 3) DS EF
AMEEHE| A EHE 4) AMXES B 4) ARl RS HElT
i i 238,852 ) (A==, 208,789 ) MM EEHREEE - 30,063
0 BESX[A AISIEERET 227,992,723 0 B3R AZIEEREHT 198,413,838
238,852,062 208,789,351
0 ekl E2NEF 8,743,429 0 Meteld ExHEZ 8,526,837
PEEEEICEELE! 192,312 0 XA B[R F 183,569,020 200, 380 0 XA EFXMBF 191,853,025 8 067
192,312,449 200,379,862
0 Mol yEMETy| 264,000 0 Metoldd yEMETy| 199,400
JEt= A | 7| Et =Y Heeld Sx|zZlE Heold =X ZolE
| :rlé | :rlé g6a | © |= 600,000 g9 | © |= 750,000 85
864,000 949,400
EEESSL] 3,280 3,280,000 2,836 2,835,500 |- 445
0 2Hel 3| 2,280,000 0 2H2al 2loH| 1,835,500
1. 3l 2o|H| 1,470,000 1. 3|ol| 1,190,000
2. AAH| 810,000 2. AAHH| 645,500
3lelu| 3 ofH| 3,280 2,836 - 445
0 HM37|& AFX2e ZHefs|y]| 1,000,000 0 H37|& AFX2g Zhehs|y] 1,000,000
3,280,000 2,835,500




<M Z> (Etel - 2l) (gtel - 2l)
=7}
o & 2 M= 20 S oLHA) MBS 20 HZ o AK(B) ME o8 (BA)
[=Tm | ~
29y 22,226 22,226,400 17,188 17,187,665 |- 5,039
0 2SX| YA EFAFEFR 6,000,000 0 2ESXLA ElFAFG R 4,898,475
0 FZAEAMH[A 3,000,000 0 AZAAH|A 1,049,930
0 AFR2E Toly| 1,200,000 0 AFR2E oy 1,053,500
=34l ¥ |84 ¢ # 0 &2FE | 1,200,000 0 &2E | 500,000
= N 13,260 = - e 8,007 O el B 5,253
S8 +B 0 AlZEYA 0|22 660,000 0552 4,770
0 7|EF2YH| 1,200,000 0 7|El2YH| 500,000
13,260,000 8,006,675
0 I [H2(VT-11) 0 0 [ Z(VT-11) 0
0 7 [CHZ(UT-55) 4,976,400 0 7| Z(UT-55) 4,677,580
3= 3= 4,976 4,678 - 299
4,976,400 4,677,580
0 HiAEHIRIH| 2,450,000 0 B AME B TtlH| 2,450,000
/(\:!»; 3‘:47 oly /(\:'l; %.:4.7 oly
HMB2E | HMBE 3,090 | 0 SH=EIIE 1,540,000 4,503 | 0 Fel=EIIRE 2,053,410 513
3,990,000 4,503,410
T AbZE A 5,000 5,000,000 5,000 5,000,000 -
INESE] 5,000 5,000,000 5,000 5,000,000 -
0 RpARE S 5,000,000 0 AHAFEI S 5,000,000
ApobF SH| | AHEF| S| 5,000 5,000 -
5,000,000 5,000,000
INS=L] 917,133 917,132,709 29,267 29,266,800~ 887,866
INS=L] 917,133 917,132,709 29,267 29,266,800~ 887,866
0 SAlH| 1,080,000 0 S4ly| 1,242,000
1. ADIEEZH K| 2| 1,080,000 1. A0EEZF X| 2| 1,242,000
0 ESX AL 29| 1,536,000 0 2EX|9Al 2H| 961,800
1. EEX|YALE S0 S| 1,386,000 1. ESX|YALE ST S| 811,800
2. 2SX|AAL AE SN SH| 150,000 2. 2K AL A E 41 FH| 150,000
0 S A Sl 4t 11,400,000 0 ESXIUAL S| B 11,400,000
1. AlAHH| 6,400,000 1. AlAH] 6,400,000
2. PHEEX|YALEAM]| 1,500,000 2. PLHEEX|YUALEAM]| 1,500,000
3. AEH A 500,000 3. BEH A 500,000
4. 7' EX =] 3,000,000 4. 7|\ EH | 3,000,000
0 o] X ma|2HH| 800,000 0 o] 8%t @a|2HH| 400,000
1. Ol BRIIY Y| 800,000 1. O] BX7HE gHEH| 400,000
sEx|s sEx|s 0 ol Xt SH| 8,040,000 0 ol XtmSH| 8,040,000
EAchHr EAchHr 917,133 1. HRZ(F{Lofh) 4,500,000 0g og7 |1- HHEE(FIdOlE 4,500,000/ - 887,866
= = 2. 22d|(ule) 1,800,000 ' 2. 2Hu|(4l) 1,800,000
3. WSAEHE| 1,740,000 3. WSAEHE 1,740,000




<M Z=> (k9 - 8
e 5 = 20 A of AK(B) MEUA

AMetolzy] meH| 1,200,000 Mgtelyl msH| 1,180,000

EHH| 3,700,000 E2H| 5,683,000

2| Z3 A =] 20005 2,500,000 2| Z2 A =d| 2000F 2,500,000

EEEENZH| 1,200,000 ELEEN 2| 3,183,000

A&meH| 720,000 A& T SH| 360,000

Absl H & 1,800 CAEEE 900

Alsact 718,200 . AEFE 359,100

0 7[Et2gH| 888,656,709 0 7|Ete 9| 0

917,132,709 29,266,800
of|H|H] of|H|H| 5,000 5,000,000 997,443 997,442,756 992,443
5,000 5,000,000 997,443 997,442,756 992,443

ey 0 FEXZS0 HHEE 5,000,000 0 FEXSS0 BHEE 5,000,000
; rarm 5,000 5,000 -

dhekg drets
5,000,000 5,000,000
7| = 7| A =

27|H 0| 0 A7|HE O] F 0 0 XA7|HE o|eF 992,442,756
- - 992,443 992,443

= 0 992,442,756
MEF = 50,000 50,000,000 64,896 64,895,517 14,896
50,000 50,000,000 64,896 64,895,517 -

HEa 0 MM NMEF 50,000,000 0 AN NMEF 64,895,517
IS 50,000 64,896 -

50,000,000 64,895,517




